
ДОМИНО 6 КЛАСС 
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любой из вариантов 
235193*2=470386 
239153*2= 478306 
467806*2= 935612 

  2-2 2-3 2-4 2-5 2-6 

  21 
10 веников 
5 тазиков 

Проверить пример. 
Например: 

получаем 202-20-2. Потом 
удвоениями получаем 256.  

Потом  
-25-253-506-1012-2024 

Проверить пример. 
Примеров много 20 

   3-3 3-4 3-5 3-6 

   
За 5 щелчков. 

Проверить пример! 
62 5; 7; 9; 11 91 

    4-4 4-5 4-6 

    

Проверить пример. 
Например: 

 от 5 до 14 
18 ладей.  

Проверить пример! 
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(или последнее) 

 


